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Who developed a model for the
development of transport
network in a developing country ?
(1) Ekstrom and Wiliamson

(2) Vance

(8) Taaffe, Morrill and Gould

(4) Rimmer

The Vance model of Transport
development is known as

(1) Mercantile model

(2) Spatial exploration model

(3) Metropolitan model

(4) Hypothetical model

Which is a connectivity measure
index not developed by Kansky ?
(1) Alpha Index

(2) Cyclomatic Number

(3) Shimbel Index

(49) Gamma Index

Which Index expressed by the
relationship between the number
of links over the number of nodes
in relation to transport network ?
1) Pi (2) Beta

(3) Detour (4) Shimbel

‘Shortest-Path Matrix’ is a
measure of .
(1) Density of transport

(2) Accessibility

(8) Connectivity

(4) Degree of centrality

Which is/are the
transport cost ?

A. Fixed cost

B. Vehicle cost

C. Variable cost
D. Road cost
Select your answer using codes
given below :

type(s) of

Codes: \
(1) Aand B (2) Band C
3) Aand C (4) Cand D
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10.

Consider the following statements :

A. ‘The transport costs varies
per unit with increase in
traffic.

B. The transport costs are
proportional to distance.

C. Transport cost is minimum in
air transport.

D. Transport costs varies with
mode of transport.

Select correct answer using codes

given below : '

Codes :

(1) A,B,CandD

(2) A,BandD

(3 B,CandD

4 A,CandD

Which model is used to explain the
movement pattern of transport ?
(1) Rostow Model

(2) Economic Growth Model

(3) Maximum Profit Model

(4) Gravity Model

The types of regions as described
by Dickinson are

A. Economic region

B. Formal region

C. Cultural region

D. Functional region

Select the answer using codes
given below :

Codes :
(1) Aand B 2 CandD
(3) BandD (4) Aand C

Which is NOT a characteristic of
a region ?
(1) Homogenity
(2) Interdependence
(3) Delimated boundary
(4) Geographical individuality
= |
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15.

The sectors in which regional
planning helps are

A. Economic development

B. Community development

C. Sustainable development

D. Human development

Select your answer using codes
given below :

Codes:

(1) A, B,Cand D

2 A,CandD

3 B,CandD

(4) A,Band C

Among the following which
Indian Geographer is NOT
associated with regional planning ?
(1) R.P. Mishra

(2) L.S. Bhatt

(3) K.V. Sunderam

(4) G.S. Ghoshal

Which unit is NOT a part of
regional hierarchy in a State ?

(1) District

(2) Block

(3) Metropolitan City

(4) Village

Which is NOT a quantitative
method of the regional
delineation ?

(1) Thiessen polygon method

(2) Distance minimization method
(3) Overlapping on map method
(4) Graph theory method

Which one of the following is a
category of region ?

(1) Uniform region

(2) Perpendicular region

(3) Demographic region

(4) Multiple region
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The common indicators of
development used in Geography
are

A. Gross National Product
(GDP)
B. The Human Development

Index (HDI)
C. Birth and Death Rates
D. Planning Level

Select the correct answer using
codes given below :

Codes :
(1) A B,CandD

"(2) A,Band C

@) B,CandD
(4) CandD

‘According to Clark, the main

aspects of the scope of population
Geography are
A. Absolute no. of population

B. Physical, Social & Economic
Characteristics

C. Demographic Phase

D. Population Dynamics

Select the correct answer using
codes given below :

Codes :

(1) A,Band C

(2 B,CandD

(3) A,BandD

4) A,B,CandD

Among the following, which
Geographer is NOT associated
with  the development . of
population Geography ?

(1) G.T. Trewartha

(2) B.J.L. Berry

(3) B.J. Garnier

{4) James Preston
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19. Match the following lists and

20.

21.

22.

choose the correct option :

(VAVorlddRank
. \ccording to
Continent total
population)
A. Europe II
B. North America IIT
C. Africa v
D. South America \Y
A B C D
QI I 1iv Vv
@I v II V
@I VvV IV 1II
@ VvV II III IV

Arrange the following countries
in descending order according to
their total population in 2019 : -
Germany, Brazil, Mexico, Indonesia

(1) Germany, Indonesia, Brazil,
Mexico 3

(2) Indonesia, Brazil, Mexico,
Germany

(38) Brazil, Germany, Indonesia,
Mexico

(4) Indonesia, Germany, Brazil,
Mexico

The country having highest

poepulation density among the
following countries in 2019 1s

(1) Hong Kong (2) Bahrain

(3) Bangladesh (4) Monaco
According to Malthus, population
increases at a

(1) Arithmetic rate

(2) Geometric rate

(3) Simple rate

(4) Without any pattern

Which is correct regarding
“Infant Mortality Rate” ?

- (1) Number of deaths per 1,000

live births of children under
one year of age.

Number of deaths per 100
live births of children under
one year of age.

Number of deaths per 1,000
live births of children under
five years of age.

Number of deaths per 100
live births of children under
five years of age. '

)
3)
(4)
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Consider

statements : ,

A. Russia has more population
than Brazil.

_ the following

B. Bangladesh has more
population than Nigeria.

C. Nigeria is having highest
population among African
countries.

Select the answer using codes

given below : :

Codes :

(1) Only C is true.

(2) A and B are true.
(38) Band C are true.
(4) A, B and C are true.

Which of the following is a
politico-regligious migration ?
(1) Spanish to Brazil

(2) Jews to Israel

3) Portuguese to South America
(4) All of these

Who were the earliest migrants
from Europe to South America ?

(1) French (2) Britishers
(3) Spaniasds (1) Portuguese
Who first suggested the laws of
migration ?

(1) Revenstein (2) Trewartha
(8) Lee (4) Hagarstrand

Match List-I with List-Il and
select the correct answer using
codes given below.

List-I List-II
Migration Proposed by
Model (Theory) (Scholar)
A. Gravity i. Royal
model

B. Principle of

1i. Hagarstrand
least efforts

C. Micro- iii. Stofer
analytical
model
D. Competing iv. Jiff
migrants
model
Codes :
A B C D
D W i i iy
2 1 iv i i
3) iv i 1 i
4 i iv i i
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| 33.

Most of the West European
countries are in which Stage of
the Demographic Transition

- Model ?

(1) Stage-1

(2) Stage-II
(8) Stage-IIT
(4) Stage-IV

Which is not a population-
resource region as.described by
Ackerman ?

(1) United States type

(2) South Asian type

(3) European type

(4) Brazilian type

Which is NOT a correct match of
the river and its site city ?

River Site of City
(1) Thames — London
(2) Godavari - Nasik
(3). Irawadi — Bangkok
(4) Tiber — Rome

Which is NOT a type of site with
reference to settlements ? -

(1) Foothill

(2) Gap

(8) Coastal

(4) Rock structure

Which are the types of Rural
settlements ?

A. Hamlets

B. Nucleated village A

C. Multistoried House cluster

D. Compact village

Select the answer using codes
given below :

Codes :

(1) A,Band C

(2 A,Band D

(3) B,CandD

4 A, B,CandD
14
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Which part of India is very low
prone to Earthquake ?

(1) Foothills of Arawali

(2) Western Gujarat

(3) Kashmir Himalaya

(4) Western Maharashtra

Match List-I with List-II and
select the correct answer using
codes given below.
List-I
City
Morphology
Theory (Model)
A. Concentric 1.
Zone Theory

_ List-II
- Proposed by

C.D. Harris
& E.L.
Ullman
Sector ii. Peter Mann
Theory
C. Alternate
Theory
Multiple
Nucleic

iv. EW. Burgess

EE::H-EEE

How many zones have been
suggested in Multiple Nucleic

Theory of urban morphology ?
(1) 7 2 8
@) 9 (4) 10

What is common in Concentric
Zone Theory and Sector Theory of
urban morphology ?

(1) Location of Industrial Area
(2) Location of Residential Areas
(8) Location of Retail Market

(4) Location of CBD

Nearest Neighbour technique is
used to explain distribution of
settlements. If the value of ‘Rn’ is
2.15, what will be the pattern ?
(1) Clustered

(2) Uniform

(3) Random

(4).:No Pattern
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Assertion (A) : In dry regions

the settlements are
nucleated.
Reason (R) Fewer water

sources attract many people.

(1) Both (A) and (R) are true and
(R) explains (A).

(2) Both (A) and (R) are true, but
(R) does not explain (A).

(3) (A) is true, but (R) is false.

(4) (R) is true, but (A) is false.

Consider the following
characteristics of rural-urban
fringe :

A. Diversity and segregation.
B. Selective immigration.

C. Loss of agricultural land.
D. Unplanned growth,

Select your answer using codes
given below :

Codes : .

(1) A,B,CandD
@2 B,CandD
@3) A,CandD
4 A, BandC

Which methods are used for the
delimitation of city region ?
A. Gravitational Model of Carey.

B. Breaking point concept of
Canvers.

C. Retail Gravitational Model of
Reilly.

D. Thiessen Polygon

Select the correct answer using
codes given below :

Codes:
(1) A,Band C
(2) B,CandD
3 A, CandD
4) A,B,CandD
14
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Who presented the concept of
primate city for the first time ?

(1) B.J.L. Berry

(2) Mark Jefferson

(3) A.E. Smailes

(4) C.D. Harris

The Rank-Size Rule in a generalized
form was presented by

(1) G.K. Zipf

(2) N. Rashevsky

(3) R.M. Northam

(4) J.H. Johnson

Which is NOT a method of

determining the urban hierarchy ?

(1) On the basis of centrality.

(2) On the bias of number, level
and variety of function.

(3) On the basis of transport
network.

(4) On the basis of occupational

structure of population.

In which year Christaller
presented Central Place Theory ?

(1) 1928 (2) 1933
(3) 1942 (4) 1945
According to Christaller in

central places theory K = 4
stands for

(1) Administrative principle

(2) Market principle

(3) Transport principle

(4) Trade principle

In which year Losch presented the
theory of “Profit maximization” ?
(1) 1948 (2) 1954

(3) 1958 (4) 1961

Which city of Rajasthan is NOT
selected as Smart City ?

(1) Ajmer (2) Jaipur

(3) Jodhpur (4) Udaipur
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50.

51.

52.

Social Geography deals with

A. Territorial organisation of
life of society.

B. Patterns in locating social
production.

C. Social patterns appear in
different countries, areas and
localities.

D. Environmental relations of

" the society.

Social the correct answer using

codes given below :

Codes:

(1) AB,CandD (2) A,BandD

3 B,CandD @) A,CandD

Which is NOT a correct match ?

Tribes Country/Area

(1) Maasai — Kenya,
Tanzania

(2) Bushman - Kalahari
desert

(3) Bororo — Brazil

(4) Chakma - SriLanka

Who propounded the “Normative

Model” regarding  population

theories ?

(1) Malthus (2) Marx

(3) Sadler (4) Ricardo

Which native language is spoken
by highest number of people in
the World ?

(2) Hindi

(1) English
(3) Mandarin (4) Spanish

. Arrange the following religion in

descending order according to their
number of followers in the world :

Hindu, Buddhism, Islam,
Christianity
(1) Islam, Hindu, Christianity,

Buddhism.

Hindu, Christianity,
Buddhism, Islam
Christianity, Hindu, Islam,
Buddhism.

Christianity, Islam, Hindu,
Buddhism.

)
C)
4

14
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54.

95.

56.

87.

58.

59.

Which language family is having
minimum number of languages ?
(1) Atlantic-Congo

(2) Sino-Tibetan

(3) Austronesian

(4) Indo-European

Who is the author of the book
“Cultural  Geography An
Evolutionary to Our Humanized

Earth” ?
(1) E.J. Taeffe (2) J.E. Spencer
(3) R.Turner (4) P.L. Wagner
Among ‘the following, which is
NOT a part of cultural area ?

(1) Culture World

(2) Culture Realms

(3) Culture Transitional Area

(4) Culture Region

In how many cultural world

- Russel and Kniffen divided the

whole world ?
(1) 6
@) 9

@) 8
4 7

Which is NOT a cultural area, as

described by Spencer and
Thomas ?
(1) China (2) Pacific Ocean

(3) Central Asia (4) South Asia

The direct impact of environment
on dwellings can be seen in which
regions ?

(1) Tundra region

(2) Desert region

(3) Equatorial region

(4) Coastal region

“Political Geography is the study
of political regions as features of
the earth’s surface.”

Above definition is given by :

(1) L. Carlson

(2) A.E. Moodie

(3) LM. Alexander

(4) S.B. Cohen
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62.

63.

64.

Who is considered as a pioneer of
the German Philosophy of Geo-
politics ?

(1) Karl Haushofer

(2) Rudolf Kjellen

(8) Kristof

(4) S.B. Cohen

Consider the following
statements regarding Geo-politics
and find the correct ones :

A. State is an organism and
development is its rule.

B. The Philosophy of Geo-
politics was limited to
Europe.

C. Self-sufficiency of a state is
possible only through
territorial expansion.

Select the correct answer using

codes given below :

Codes :

1) A, Band C

(2) Aand B

3 Band C

(4) Aand C

In which book Halford Mackinder

presented the concept of

‘Heartland’ in 1919 ?

(1) The Earth and the State

(2) Democratic Ideals and Reality

(3) Geography and Politics in a
Divided World

(4) Geography of Peace

With which reference A. de
Seversky has expressed Global
Strategic Views ?

(1) Sea power

(2) Air power

(3) Land power

(4) Sea and Land power

14
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65.

66.

67.

68.

Consider the following statements

regarding Nation and State :

A. State is a Political unit while
Nation is a social based unit.

B. Both State & Nation have
Political boundaries.

C. State has four elements-
population, territory
government and sovereignty.

D. There can be two or more
Nationalities living in one
state.

Select the correct answer usmg

the codes given below :

Codes :

(1) AABandC (2) B,CandD

@) A,CandD (4) A,B,CandD

In 1784, who determined the
Geometncal boundaries of U.S.A. ?
(1) Lapradelle

(2) Thomas Jefferson

(3) Brigham

(4) S.B. Jones

141° West Longitude
boundary between

(1) Sweden — Finland

(2) Libya — Egypt

(8) Colombia — Venezuela
(4) Alaska - Canada

The countries having divided
capital are

A. Netherlands

B. Switzerland

C. Bolivia

D. South Africa

Select the correct answer using
codes given below :

Codes :

(1) Only A

(2) Band C

3) A,CandD

4 B,CandD

is the
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69. Which is NOT a correct match ?

Type of Example
Capital
(1) Peripheral - Burnos Aires
(2) Historic — Rome
(8) Coastal — Lisban
(4) Selected/ — Paris

Proposed

70. Which minerals are considered as
‘strategic minerals’ ?
(1) Coal and Petroleum
(2) Uranium and Thorium
(3) Iron ore and Copper
(4) Lead and Zinc

71. Consider the following
statements regarding types of
Federal States ?

A. Federal States based on
mutual interest.

B. Federal States based on
compromise.

C. Centralized Federal State.

D. Fragmented Federal State.

Select the correct answer using

codes below :

Codes :

(1) A & B are correct.

(2) A, B & C are correct.

3 A,B,C&Dare correct.

- (4) Only B is correct.

72. Who is the author of the book
‘Geography of Elections’ (1979) ?

I (1) Smith and Hart ‘

(2) J.R.V. Prescott

(38) Taylor and Johnston

(4) Roberts and Rumage

73. Makalu, Annapurna and
Gosainath peaks are located in
(1) Kashmir Himalayas
(2) Central Himalayas
(3) Himachal Himalayas.
(49) Kumaun Himalayas

16 14

e e
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| 77.

Consider the following statements :

A. ‘Chars’ and ‘Bils’ are
characteristic features of the
Ganga delta region.

B. ‘Reh’ and ‘Kallar’ are found
in Bangar Plain.

C. Khadar tracts have older
deposits of silt.

Select the answer using codes

given below : '

Codes :

(1) Aand B

(2) Band C

(3 Aand C

4 A, BandC

Assertion (A) : The occurrence
of El-Nino results into weak
monsoon.

Reason (R) : Shifting of Inter-
Tropical convergence zone is
the main cause of Indian
monsoon.

(1) Both (A) and (R) are true and
(R) is correct explanation of (A).

(2) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

The first attempt to divide India
into climatic regions was done by
(1) B.L.C. Johnson

(2) K.N. Rao

(3) W. Koppen

(4) H.E. Blandford

Which one of the following is not
a main area of mangroves ?

(1) Sunderban

(2) Mahanadi Delta

(3) Tarai

(4) Gulf of Khambat
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83.

Nor'westers in West Bengal are
known as

(1) Cherry Blossoms

(2) Kalbaisakhis

(3) Mango showers

(4) Loo

Bhima and Tungabhadra are the
tributaries of river

(1) Krishna

(2) Narmada

(3) Sabarmati

(4) Pennar

Which one of the following river
does NOT originate in India ?

(1) Ravi (2) Beas

(3) Chenab (4) Sutlej

In India Peaty and marshy soils

are NOT found in

(1) Kottayam district of Kerala

(2) In Northern Kashmir

(8) Coastal region of Odisha

(4) Central part of Northern
Bihar

Which is NOT a correct match ?
Irrigation State
Canal
(1) Ukai = Gujarat
(2) Ghat — Karnataka
Prabha
(3) Betva — Jharkhand
(4) VenGanga - M.P.and
Maharashtra
Which is NOT a correct match ?
- Irrigation River
: Project
(1) Salal — Chenab
(2) Matatila — Betva
(8) Thin — Ravi
(4) Kundah — Godavari

14
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84.

85.

- 86.

87.

Match List-I with List-II and
select the correct answer using
codes given below :
List-I List-II
(Rivers) (Dams)
A. Kaveri 1. Alamatti
B. Krishna 1. Mettur
C. Narmada iii. Kakarapar
D. Tapi iv. Sardar Sarovar
Codes :
A B C D
i v 1@ i
@ 1 i iv i
@G i i . iv
@ i i iv i
According to Agriculture

Statistics of India in 2017-18, the

two highest Soybean producing

States in India are

(1) Maharashtra and Rajasthan

(2) "Madhya Pradesh and Andhra
Pradesh

(3) Madhya Pradesh
Maharashtra '

(4) Rajasthan and Karnataka

According to Agriculture

Statistics of India in 2017-18, top

three sugarcane producing States

of India are

(1) Uttar Pradesh, Karnataka
and Bihar.

(2) Uttar Pradesh, Maharashtra
and Karnataka.

(3) Maharashtra,
and Punjab.

(4) Karnataka, Bihar and Uttar
Pradesh.

and

Tamil Nadu

Which is NOT a correct match ?
Main Crop State
(1) Rubber — Kerala ~
(2) Tobacco -~ Andhra Pradesh
(8) Ragi — Goa
(4) Coffee — Karnataka
= |



88. N WAl AL 2 2 88. Which is NOT a correct match ?
T8 afe Mining Area Mineral
) ot - o | () Debsbunhils - bnore
@) T (3) Manipur — Mica
(3) wufig - 3uH (4) Kalahandi — Bauxite
(4) FTRIUE] AT 89. Match List-I with List-II and select
89. TH-I % =11 ¥ gafea R e the correct answer using codes
T I 1 99 19 e A Fifa - given below :
List-I List-II
-1 T-II (Industry) (Centre)
(=) () A. Aluminium i. Nagal
A. tEHitEm i. AT B. Automobiles ii. Bengaluru
B. ICHEREA ii. dTgE C. Electronics iii. Renukut/
C. TR mw Renukoot
. D. Chemical iv. Pune
;.e OS5  iv. T Fertilizor
: Codes:
A B C D A B C D
(D il v i i Q) w v i i
() i 3 i iy (2) i i i iy
(3 1 i oiv i @) i i iv i
4 v i Qi i @ v i i i _
90. fefafgada s T WA 1 I@ 90. Which one of the following is NOT
INAE W T R 2 a major industrial region of India ?
1 u (1) Mumbai — Pune
) gﬁg Hlﬁ (2) Kanpur — Agra
(2) HHH - APA (3) Chota Nagpur
(3) SIer AR (4) Kolkata — Hugali
(4) Pl - gred 91. Which one of the following is NOT
91. FSHT AN gRI vl SR Serary e anPagro-c]iméatic region gx:cording
: : to Planning Commission ?
ﬁﬁmﬁﬂ@?ﬁﬁaﬁqm@ TR (1) Trans-Ganga Plain Region
(1) R-Tmm AeH Fewr (2) Central Plateau and Hilly Region

|

|
(2) AeFadt Tord ok verdt wew | gg SmxalivMale I-'Iidgh&ajd Region
9) - qg‘r%mﬁ ’Iﬁfﬁﬂ I 92 Accor:ijna; toal;IOT; CenZus the
(4) T9a A 3R [ highest growth rate of popul’ation

92. 2011 %1 SFUMT ¥ IGER FHE [ rlll‘as been recorded in Whic}:; Union

: N erritory during 2001-2011 ?

E';ﬁgs”'t'“ .m%igo'lﬁ-zog; fﬁ I (1) Daman and Diu

(1) TA3RGT  (2) el E

(2) Delhi
(3) Puducheri
3) T (4) TR TR T
o 20 14

(4) Dadra & Nagar Haveli
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.of India

The longest National Water-way
of India is

(1) National Water-way No. 1

(2) National Water-way No. 3

(8) National Water-way No. 4

(4) National Water-way No. 6

The number of planning regions
divided by Mishra,
Sunderam and Prakasha Rav is
(1) 10 Macro and 28 Meso

(2) 15 Macro and 32 Meso

(3) 13 Macro and 36 Meso

(4) 16 Macro and 26 Meso

Which is NOT a correct match ?

Aravalli Peak Height in
metres
(1) Ragunathgarh - 1380
(2) Taragarh - — 873
(3) Kho - 920
(4) Gogunda — 840

In which region of Aravalli, Roja
Bhakar and Israna Bhakar hills
are located ?

(1) Abu region

(2) Jalore region

(3) Mewar region

(4) Shekhawati region

Match List-I with List-II and
select the correct answer using
codes given below :

List-I List-II
(Physiographic (District)
Region/Feature) ‘

A. Ghaggar i. Banswara
B. Girwa ii. Nagour
C. Vagad iii. Hanumangarh
D. Bangar iv. Udaipur
Codes:
A B C D
1) i i iv i
@ w v i i
@ iv i i i
@) i iv ii
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{ R I ST 2 2

(1) TorEH< (2) @TTEEg

(3) vEHTg {(4) IETR
Trere o o ot 3 Rrgeftera e i
AT 2 2

(1) T® (2) ER

@) I (4) s
fraafafea =1 wifm Hifve ok ad
I 1 95 A Rl e A Aifv
(Remdafesem)  © (e

A, 9EFT - He
ﬁsnéq\ — HoEme

) A,B
) B, C

B) A,BairDT@E | F
) A,B
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98. Gambhiri river is a tI:ibutary of
river. ‘ 2
(1) Parvati - (2) Bedech
(3) Jakham (4) Kalisindh
99. Which is NOT a correct match ?

River Place of Origin
(1) Banas — Khamnor hills
(2) Banganga - Bairath hills
(3) Bedech — Mukandra hills
(4) Kantali — Khandela hills

100. Which districts of Rajasthan are
included in ‘DB'w’ type.of climate
as per Thornthwait.classification ?
(1) Ganganagar, Hanumangarh,

Churu, Bikaner .
(2) Barmer, Jaisalmer, Jalore, Pali
(3) Jodhpur, Pali, Nagour, Ajmer
(4) Sikar, Jhunjhunu, Nagour,
Jaipur

101. Which lake of Rajasthan is also
known as ‘Dhebar’ lake ?
(1) Rajsamgnd
(2) Balsamand
(3) Jaisamand
(4) Amarsagar

102. In which district of Rajasthan
Gypsiferrons soil is found ?
(1) Tonk (2) Jalore
(3) Churu (4) Bikaner

103. Match the folI'()Wing, and select
the correct answer using codes
given below :

(Irrigation (District)
Project) .
A. Panchna — Karouli
B. Meja Dam ,— Bhilwara
C. Jawai — dJalore
D. Gudha — Bundi
.Codes :

(1) A, B and C are correct.
(2) B, C and D are correct.
£3) A, B and D are c¢orrect.
{4) A, B, C and D are correct.
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104. F=fafsa § @ v & #1999 s=R- 104. Among the following which are
T =T afeemmd # 2 the inter-state irrigation projects
A. HE-9 §OR of Rajasthan ?
5 A. Mahi-Bajaj Sagar
](?J" i ]8' gf‘alpﬁlarl :
: . am
D. V&R D. Jawai
aﬁmww:ﬂ%ﬁ&%ﬁﬁﬁq; Select the answer using codes
T given below :
(1) ASRB (2 B3kC Codes
3 C3RD 0 ARG (1) Aand B (2) Band C
) ' @) CandD  (4) AandC
105. TSRYM | $HET IS Nt & 105. Isabgol (Psyllium Husk) producing
(1) uTeh, SEYE, AR districts of Rajasthan are
(@) TR, R, TR (1) Pali, Jodhpur, Nagour
8) TR W e (2) Jalore, Sirohi, Barmer
2 ’ , (3) Jalore, Jodhpur, Bikaner
(4) NUR, T, Tt (4) Jodhpur, Barmer, Pali
106. fiearer, fatee alk tomm= fy&t | 106. In which agro-climatic region
g Y 3 affa ¥ 9 Bhilawara, Chittorgarh and
) ?Tg Eﬁi"ﬁ-;;ﬂﬂm ¢ Rajsamand districts are included ?
_ (1) Humid South-Eastern Plain
(2) 3 gfoft Aem (2) Humid Southern Plain
(3) I9-31g efluft e (8) Sub-Humid Southern Plain
(4) &g T™Tfem '{q“fﬂan (4) Flood prone Eastern Plain
107. SN T gAfa T2 ? 107. Which is NOT a correct match ?
Ltioc Lo Livestock Breed
: 1 % _ e (1) Sheep — Chokla
(2) Camel — Gomath
2 & - Tm (3) Goat — Kheri
@) T - (4) Buffaloes — Surati
(@) %9 - g 108. Which is NOT a correct match ?
Minerals Mining Areas
108, N w gl TE & ? (1) Garnet — Rajmahal,
o T & Sarwad
(1) e — TSHEA, TS (2) Soap Stone - Kagdar,
@ TR - wrE, &, : ?eﬁ’al’
A 3 (3) Silica Sand - Diipr?;:vad
() fafermr v — ufame, TR, Haldighati
(laeTe) TR Rajnagar
(4) TR T — Hiegq, BT, | (4) FireClay - Kolayat,
Man
Q@ grup,
I Aral
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109.

110.

111.

112.

113.

114.

(4) TES AEMGE — SiHM

TR G Fort Ay e o & s ht
g ?
(1) 2017 (2) 2019
(3) 2020 (4) 2015
TR Y Igelt 7ae St RS & -
(1) 3R GIR Y& ot GRIISHT
(2) <TG TS oAt TS
(3) shtudt/ e yam FHeit @IS
(4) Wihe 9o Hel TR
H |1 gHicTa TEi R 2
I * fefa
(1) afemaere - Heam
(2) THINIFE - IR
3) foga i - Y
(4) TARR®3IFE - AsH
Prfriaa § & 9 @ y-wer i weh
&2
(1) g we 3aH
(2) T 3fiet
(3) Sferan ST
(4) TuHA-H-FaA
2011 F FVAT F FTAR TTEH
B & el & 37 ot s i 5%
T F9 rggia wfa Y SEe sifea
HNER?
(1) SeerfRNggR |
(2) ST IR FATFTG |
(3) TRYL 3R wfgarst |
@) Teiterg siv aommg |
AW GIRT TR ? |
e 8 Ry ) |
(1) gosmTan — R-RAE |
R UER — SR i
®3) T — AFR '
|
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109.

110.

111.

112.

113.

114.

In which year ‘Rajasthan Solar
Energy Policy’ was declared ?

(1) 2017 @) 2019

(3) 2020 (4) 2015

The first wind energy project of

Rajasthan is

(1) Amar Sagar Wind Power
Project

(2) Devgarh Wind Power Project

(3) Bithadi Wind Power Project

(4) Mokla Wind Power Project

Which is NOT a correct match ?

Industry Location

(1) Sodium — Deedwana
Sulphate

(2) Tyre & tube — Alwar

(3) Electric — Jaipur
meter

(4) Chemical — Modak
Fertilizer

Among the following which is NOT
a site of Geo-tourism ?

(1) National Desert Park

(2) Pushkar Lake

(3) Chulia Waterfall

(4) Nathmal-ki-Havali

According to 2011 Census, which
districts of Rajasthan have
recorded less than 5% Scheduled
Caste population in their total
population ?

(1) Jaisalmer and Jodhpur

(2) Udaipur and Pratapgarh

(3) Dungarpur and Banswara

(4) Chittorgarh and Rajsamand

Which is NOT a correct match ?

Conservation Location
Reserves (District)
(1) Sunda Mata - .Jalore-Sirohi
(2) Shakambhari — dJodhpur
(3) Rotu — Nagour
(4) Johad Beed - Bikaner

Gadhawala
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115.

116.

117.

118.

14

B9 H fermen wfe greT W
ImaEa TS 2 ?
(1) o= refeyaen
(2) fafEa sreferaen
(3) geit refezare
(4) ITEvE Freferaen
AT AR TE R 2
(e fomar
%I Auft)

@) e - wEEE
2 fifos - Pl
3 T - ReR 3R wwEEm
@) s - gy
Gl 3Tk o T 8 ) gafva =5t

g I T 8
A RIS i gesd oy
B (qfaT)  iii. AR she 9
iv. fafessara

(foram)

fafaRes bl w1 wfe w=<
Frzfegaea & v o frem Hiftr -
A I A P

B. 3ot ATevaeRarat i qul s
C. 9RE& % @i A R &M

D. &t dant 31E § @ & e
39 I T = e el e & Hifvrm -
$e:

(1) %I A g
(2) A, B3RCud
(3) B3k Cud
(4) A, B3RD g

A s — S—E—— S———————— S———

N
"

115.

116.

117.

118.

The economy which is not based
on spatial organization is '
(1) Closed economy

(2) Controlled economy

(3) Open economy

(4) Inter-sectoral economy

Which is NOT a correct match ?
(Category of
Economic
Activity)
(1) Tertiary —
(2) Secondary -

(Activity)

Business
Subsistence
agriculture
Hunting and
gathering
Information
and Research
Match Mineral and their mining
area.
Mineral

(3) Primary

(4) Quaternary

Major Mining
Region
Sudbury Region

1. Chiatura
Region
iii. Lake Superior
Region
D. Manganese iv. Chuquicamata
Choose the correct option :
A B C D
1) i # i v
@2 i iv i 1
@ i 1 iv i
4) iv i i i
Consider the following
statements regarding spatially
closed economy :
A. Isolated with other regions.
B. Fulfill their own needs.

Iron ore 1.
Nickel

Q W

Copper

C. Linked with transport
network

D. Acquires services entirely
within the unit.

Select the correct answer using
codes given below.

Codes :

(1) Only A is correct.

(2) A, B and C are correct.

(3) B and C are correct.

(4) A, Band D are correct.



119.

Il ® 3| sanE) Y B @t
Foft T 3 ?

(1) TG HETHS

120.

121.

122.

123.

(2) AT T

(3) wEgE™ FEHA

(4) o (Twifera) sEmee

gfi-1 #1119 gafea it qon

&l IR &1 99 A1 e g2 & Hifvg -
-1 gHfi-11
(8oft) (GETe)

TfRgeflg s i ®Een

@) iv i
4w 1 iv i

HEA BRE @E w@Ene-2020 #
IR R w P A 8 &

(1) 4.84 3/E TR

(2) 5.21 3IRE TR

(8) 4.06 3" TFRIW

(4) 5.18 3E FTRW

T¥ 2020 # fava =1 =R Ifers a7 &
AT R

(1) i

(2) H=I

(3) gH TH ARH

(4) "

2019 ¥ fava o waites = da &
IeqTeH i o &

(1) ggFa U7 e, <, 934 oRE
(2) UIF T ITANHT, FH4) 31, T4
(3) TFE IRE, HTET, A

(4) 3¢ 3RE, &4, 5

=il -He!

I 122.
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119.

120.

121.

123.

Which is NOT a category of
resources based on their utility ?
(1) Unused resources

(2) Unusable resources

(8) Ubiquities resources

(4) Potential resources

Match List-I with List-II and
select the correct answer using
codes given below.
List-I
(Category)
Maintainable 1.
resource
Fund
resources
Immutable
resources
Renewable
resources
Codes :
A B
iv 1
i iv
iv i
m 1
According to Global Forest
Resources Assessment-2020, the
total forest area of the world is
(1) 4.84 billion hectares
(2) 5.21 billion hectares
(3) 4.06 billion hectares
(4) 5.18 billion hectares

The country having highest forest
area in the world in 2020 is

(1) Brazil ;

(2) Canada

3) U.S.A.

(4) Russian Federation

List-II

(Resource)
Coal

1. Water

iii. Soil fertility

O 0w p

iv. Forest

SE~EQ
SHE ==

Top three crude oil producing
countries in the world in 2019 are
(1) U.S.A., China, Saudi Arabia
(2) U.S.A., Saudi Arabia, Russia
(3) Saudi Arabia, Canada, China
(4) Saudi Arabia, Russia, China
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124. P 3 3 B @ w2 wew B

125.

"126.

127.

"128.

129.

14

.(2) . 9

fafrsdiz 2

(1) o gamio

(2) afcwmErm

(3) rafetepT f=uT
(4) T R A=

frafafea & @ #F @1 w fava w1

1T SR s (E) T R 9

(1) <froit-uat ofend wgi W W
(ASEAN)

(2) &R 3R fvm W gw TP
w=eH (UNCTAD)

(3) It mfe g =mm Gy
(NAFTA)

(4) T 56 (EV)

9 | | gafera & & 2 _
(&) (SrTaRa S 1 M)

(1) g™ g

() sfietmr Ll

(3) W foreq

(4) feferdia %ﬁm/éﬂsﬁq

fF@ w8 - ‘98 wEeR # ws

AHa I T R 1 2 '

1) . fm »

(3) %=y, oA
() . w=E |

1936 i fre ot & T PR R H |

Tuis foma 2

(1) fusien (2) feeesdt

3) foud @) Fx |

Sit. Freien gra aftfa 19 a1 surm SR

Il & AT HITE 2 ? ,

(1) =maTies 9P

@) dg ST {
|

(3) WIRRIH Iurm
(4) HEG 3UTH

124. Among the following which is NOT

125.

126.

127,

(1) Association

a technique of soil conservation ?
(1) Protective afforestation

(2) Terracing

(3) Control of Gullies

(4) Control over urbanization

Which one of the following is NOT

a major regional trade block of the

world ?

of South-East
Agsian Nations (ASEAN)

(2) UN Conference on Trade and
Development (UNCTAD)

(8) North American Free Trade
Agreement NAFTA) -

(4) European Union (EU)

Which is NOT correctly matéhed ?

: (Shifting
(Region) Cultivation
Name)
(1) Sudan — Ngasu
(2) SriLanka - Chena
(3) Malaya — Milpa
(4) Philippines -~ Caingin

“It is man’s husbandry of land
like animal husbandry.” Sald
by —

(1) D. Grigg

(2) L. Symons

3) E.W.Zimmermann

(49) H. Bernhard

. Who described the major
agricultural regions of the earth
in 1936 ? _
(1) Chisholm
(3) Stewart

(2) Whittlesey
(4) Weaver

. Which is NOT an approach of the

study of agriculture geography as
described by G. Chisholm ?

(1) Commercial approach

(2) Theoretical approach

(3) Regional approach

(4). Systematic approach



130.

131.

IR Wit §9 % FHTA F r=wta
foram SR vt wgfa 1 ferepmar foa 2
(1) drgwE 2) faeest

(8) wHEE (4) PR
7z freft & form wepm Y HR A It 2 2
(1) SATIRER GreT HiY

(2) e B

() FafEw sl

132.

133.

134.

135.

(4) wHTRa $Y

frafaRea & & =9 @1 aomdh i w0
CEE R

(1) efeoft-gat shier

(2) Tl ag TS AR

(3) TARRT-3vERRm

(1) IR

ﬁﬁL&%x 100

IgT g7 w1 9 fhEss Prufor ¥
fparsmar g ?

(1) w8A 956

(2) wEa i 3T

(8) wEH U

(4) TS GISE

A Gaed  fovewor ¥ wEwem
wiferh! faftr = s fomem faa 2

(1) FEFE

2 €. ymg

(3) di.ua. . SEa

(4) .9, Ffi=

HEA HANE 3G AfHTH THTAS |
DEI-CATERER T DRI

(1) TH.TH. ISl gRl

(2) .. IR

(3) IR.%. =T g

(4) @, THgR
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130.

131.

132.

133.

134.

135.

Under IGU commission,  who
developed the scheme of.
agricultural typology ?

(1) Symons

(2) Whittlesey
(3) Bernhard
(4) Kostrowicki

Which type of agriculture is
common in Central Chili ?

(1) Commercial grain farming
(2) Mediterranean type

(3) Subsistence agriculture

'(4) Shifting agriculture

Among the following, which is
NOT an area of plantation
agriculture ?

(1) South-east Brazil

(2) Eastern USA

(3) Malaysia-Indonesia

(4) West Indies

Harvested Land
Arable Land

The above formula is used to

x 100

- determine -

(1) Crop rotation

(2) Crop land use

(3)- Crop intensity
(4) Crop combination

Who first introduced statistical
method for crop combination
analysis ?

(1) Kiku.Kazu Doi

(2) D. Thomas

(3) B.L.C. Johnson

(4) J.C. Weaver

The maximum positive deviation
method of crop combination was
given by

(1) S.M. Rafiulla

(2) N.P. Ayyar

(3) R.K. Banerjee

(4) S.M. Shafi
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136. B W gAfa & & 2

137.

138.

139.

14

(FRIACFTIAFY ()
i faftr)

(1) SFEAAIqE  A*. B

(2) HIf e wgfey FEA

8) SFEETF Tl wmm

< SET g

(4) SUCHATgAHI®  TH.WH. TH

frfafea & @ = SR vewt & e

AR TE & 2

(1) . FHawt

2) Mrefmra

(8) .U, &%

(4)

= 4 @ 8 @ = v e S

e AT T R ?

(1) I& faft= wawt & aey iyt w5y
qaETE |

(2) %mﬁﬁﬂw%ﬁqﬂa@mél

(3) | T Tl & AW ﬁ ft s
ST 2 |

(4) wmfean 3 et 3 39 A9 3G G
few |

T A % JAER & e § F9

T q2q 3T o Afvaa s & 2 '

A. SR TE YR & ne gl

B. o9 3qisyl

C. SR $wd 3R awra

D. uiag @

Y I 1 =774 A2 e e @ Hifdra

%<

(1) A,B3RC

(2 A, C3RD

3) B, C3rD

(4) A, B, C3RD

——r————————— — c—
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136. Which is NOT a correct match ?

137.

138.

139.

(Methods of Calculation

of Agricultural (Proposer)

Productivity)

(1) Outputperunitarea - G.K. Ziff
(2) Ranking Co-

efficient method  — Kendall
(8) Carrying capacity

of land in terms of

population — Stamp
(4) Productivityindex — SM. Shafi

Among the following, who is NOT
associated with the delimitation
of agricultural regions ?

(1) K. Kawachi (2) Rakitnikov

(3) J.L. Buck (4) Helburn

Which statement is NOT true
regarding crop-diversification ?

1) It reflects competition
between different crops.

(2) It 1is opposite to crop
specialization.

(@) It is also known as crop
concentration.

(4) Bhatia & Jasbir gave

formulas to calculate it.

According to Von Thunen, which

facts determined the production

in a regional set-up ?

A. Distance between market
and hinterland.

B. Labour availability.

C. Market price and cost.

D. Transport cost.

Select your answer using codes

given below :

- Codes :
(1) A, BandC (2) A,CandD |
(3) B_CandD () A,B,CandD



140. faa @ g w1 F o =1 JT TR -

141.

142,

143.

144.

(1) fafermate

(2) A AR

(3) .. @ftEEE
(4) . T

IO & RIS 1 S G T
I A& & ?

(1) H=THA () St gETEw
(3) Swamgfd  (4) wRaw

TR ) $9 @ fa¥mand sot &

T ! TeTerd et & 2

A. SAEH TH IUNIET & 7 dl
C Y

B. & qea hi Il

C. ¥ &Te g areft aeqd

D. SR & %7 AR

IR 1 =34 = 63 g2 & Ff

L T

(1) A, B3RC

(2 B,C3RD

(3) A,B3RD.

4) A B,C3RD

“Industrial Location An

Economic Geographical Analysis”
T & AGH DA & ?

1) $WE (2 S fam
() BIRA (1) hi &
= # 9 feen s el e
i fen 2 '
(1) €. oy
(3) T g

(2) 23S U=t

(4) I8
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140.

141.

142.

143.

144.

The credit of the beginning of
‘Green Revolution’ in the world
goes to

(1) William Goud

(2) Norman Borlaug

(3) M.S. Swaminathan

(4) H. Clark

Which is NOT a primary factor of
the localization of industries ?

(1) Raw material

(2) Power resources

(3) Water supply

(4) Transportation

Which market characteristics affect

the localization of industries ?

A. Direct contact with producer
and consumer.

B. Low price goods.

C. Perishable items.

D. Size of the market area.

Select your answer using codes

given below :

Code :

(1) A,Band C

2) B,CandD

3 A,BandD

4 A, B,CandD

Who is the writer of the book
“Industrial Location : An Economic
Geographical Analysis” ?

(1) E.M. Hoover

(2) D.M. Smith

(3) Hodder and Lee

(4) P.E. Lloyd

Who is not associated with
development of theories for
Industrial location ?

(1) D.M. Smith

(2) Tord Palander

(3) E.M. Hoover

(4) Luise
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145.

1486.

147.

148.

149.

150.

14

W & IFER s fRafy 1 gad
wifremeft fRufes

(1) ¥R
(3) WrenfirEhy

W & e seffy fug=
mﬂrﬁ:a%:

(1) T U AT W

(2) I &% WA W

(8) ufEET W

(4) TR
wﬁaﬂw%mﬁw&f@aﬁﬁ
I W A ST 1 e T8 8 2

(2) uitEsE &

(1) wiepios gEem

(2) WPl e

(3) WiEplersh vgva

(4) i TIeH

TIH TT AT H1 B a1 3iefs
T E ] ?

(1) T sher e

(2) U= AR T W

(3) Tftavft sr=ifirT ey

(4) SZRE W™

T g T & 2

(3Neifves ww)
(1) Twatt

(2) el
(3) wiA

(4) sffem — arses fehrem
JNenfies ot # aftufa @

A. foemr

B' a-lg &
C. ﬁﬁﬁmmm
D. 3m

(&)

I I 1 57 A1 e xe A hifdr
%<

(1) A,B3iRC () A, C3RD
(38) B,C3kD (4) A,B,CakD

(4) FATAREA

145.

1486.

147.

148.

149.

150.

According to Weber the most
powerful determinant of
industrial location is

(1) Market

(2) Transport cost

(3) Technology

(4) Source of raw material

The Losch theory of industrial
location is based on ;
(1) Total Production Cost

(2) Source of Power

(3) Transportation

(4) Labour

Which is NOT an element of Cultural
Geography according to Carl O Savor ?
(1) Cultural Problems

(2) Cultural History

(8) Cultural Landscape

(4) Cultural Movements

Which is NOT an
region of U.S.A. ?

(1) Lake Michigan Region

(2) St. Lawrence Valley Region
(3) Southern Appalachian Region
(4) Detroit Region

industrial

Which is NOT a correct match ?
(Industrial  (Country)
Region) _ ‘
(1) Hamburg — Germany
(2) Lombardy ~ Italy
(8) Lorraine — Belgium
(4) Birmingham - United
Kingdom

The industrial hazards consist of
A. Explosion

B. Air Pollution

C. Toxic Gas or chemical release
D. Fire

Select your answer using codes

given below :

Codes : ' _
(1) A,BandC (2) A,CandD
(3 B,CandD (4) A,B,CandD
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